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Qa Qb Qr Qe U
1 Xia X1b Xar X1 C1 l1 EX1 IM1] Y1 P1
2 X2a Xa2b Xor X2e C2 12 EX> IM2 | Y2 P2
Ka Kb Kr Ke K* Pk
La Lb Lr Le L* PL
1 Ria Rib Rir Rie Rin S1 Ps1
2 R2a Rab Ror R2e Ran S2 Ps2
1 Ya1 Yb1 Y1 P1
2 Ya2 Yb2 Y2 P2
E E Pe
W Zw Gw Pw
X Zx Gx Px
En E E* Pe
w | Haw Hobw Hew | Hhw Hw
X | Hax Hox Hex Hnx Hx
W | Daw Dow Drw | Dew | Dnw Dw
X | Dax Dbx Drx Dex | Dnx Dx
1 S1 S1 Ps1
2 S2 S2 Ps2
w | Gaw Gbw Gew | Ghw Gw Pw
X | Gax Gbx Gex | Ghx Gx Px
v Fu F* Pr
X Fx
Ja Jb Jr JE Jn J* PJ
CO2 CO2a | CO2p | CO2r | CO2e | CO2n CO2* | Pcoz
NOx NOXa | NOxb | NOxr | NOXe | NOxh NOx* | Pnox
SOx SOxa | SOxb | SOxr | SOxe | SOxn SOx* | Psox
COD CODa | CODy | CODy [ CODe | CODn COD* |Pcop
TN TNa | TNob | TNr | TNe | TNn TN* | Pt~
TP TPa | TPo | TPr [ TPe | TPn TP* Prp
WD WDa | WDy | WDr | WDe | WDn WD
WW WWa | WWh | WWr | WWE | WWh WW* | Pww
2
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F*
Pr
J*
PJ
CO2 NOx SOx
Pco2 Pnox Psox
COD TP TN
Pcoo Ptr PN

WD
WW
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U =u(C,,C,,R, R, E; . Gy, Giyr 3, €02, , SOx, , NOx, ,COD,, TN, , TR, , WD, ) —> Max

a:Qa = fa(Xla’XZa’Ka’La’Rla’
= ga (Yal’YaZ)
b:Q, = fb(le,XZb,Kb,Lb,Rlb,RZb,GbW,GbX,Jb,COZb,SOxb,NOxb,CODb,TNb,TPb,WDb)
=0, (Yblebz)
Q.
fr( lr,XZF,KF,LY,R“,RZF,FW,FX,.]r,COZr,SOxr,NOxr,CODr,TNr,TPr,WDr)
:gr (ZW’ZX’SI’SZ)
1Q:
= fE(XlE,XZE,KE,LE,RlE,RZE,GEW,GEX,JE,COZE,SOXE,NOxE,CODE,TNE,TPE,WDE)
:gE(E)

Ryas Gaus Gyer J,,C02,, SO, , NOx,,COD,, TN, , TP, ,WD, )

2a’

1 X, + X, + X, + X+ X +C + L +EX, —IM, =Y, =Y, +Y,,
2 X,o + X + X, + X, + X +C, + 1L, +EX, = IM, =Y, =Y, +Y,,

K, +K, +K, +K, +K <K’
L +L +L +L +L <UL

1 R1a+R1b+R1r+R1E+R1h:SI
2 R, R, +R,, + R +R,, =S,
EhSE+E*
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w Z,=G,, +G,, +G,, +G,, =G,
X Z,=G, +G,, +G, +G,, =G,

F +F <F

J,+J,+J, +J.+J, <]
CO2, +CO02, +C02, +CO2, +CO2, <CO2"
SOx, + SOx, + SOx_ + SOx. + SOx, < SOX™
NOx, + NOx, + NOx, + NOx; + NOx, < NOx"

COD COD, +COD, +COD, +COD, +COD, < COD"
TN, +TN, +TN, + TN, +TN, <TN”
TP, + TP, + TP, + TP, + TP, <TP"
WW, +WW, +WW. +WW, +WW, <WW*

C,-PR+C,-P+1-P+I,-P+E -P.+J,-P,+G,,-P,+G,, - P,

+C02, - Py, +SOX, - Py, + NOX, - Py, +COD, - Poop + TN, - By + TR, - By + TR, - By +WW, - R,
=K"-P +L P +E-P.+F -P. +J -P,

+C02"-P,,, +SOX P, + NOX P, +COD"-P.,, +TN"-P  +TP P, +WW™-R,,

a Ya1'Pl+Ya2'P2
=X, P+X,,-P+K,-B+L,-P. +R,-P,+R,,-F, +G,, P, +G,, -P. +J, - P,
+C02, - P, +SOX, - Py, + NOX, - Py, +COD, - Py + TP, - P, + TN, - B +WW, -R,,,
b Y R+Yy, R
=X, -B+X, PR+K -P+L -P+R, P, +R, P, +G,, P, +G, P +3J, P
+CO02, - P, +SOX, - Py, + NOX, - B, + COD; - Poop + TR, - By + TN, - Py +WW, - R,
Z,-B,+Z, -P+S P, +S,- P,
:Xlr-Pl+X2r.P2+Kr-Pk+Lr-PL+R1r-PSl+R2r-P52+(FW+FX)-PF +J,-P
+CO02, - Py, +SOX, - Py, + NOX, - B, +COD, - Py +TP. - Ry + TN, - B +WW, - R,
E-P
=X PR+ X, P+Ke-B +L-P +Rg Py +Rye - P, +G, - P, +G, - P, +J: - P,
+CO02; - Py, +SOX; - Py, + NOX; - Py, + COD; - Py + TR - Pp + TN - B, +WW, - B,
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b}

WW, = w, (WD, ,K, )
WW, =w, (WD, ,K,)
WW, = w, (WD, K )
Ww, = w, (WD,,C;)

WW, =w, (WD,,K,)

(ox

ab)

Gy =Hay =D =Ha, =0y, (Ha K, ). Gy = H, =D, = Hy —d,, (Ho K,

G :HbW_wa:wa_dbw(HbW'Kb)1Gbx:be_Dbx:be_dbx(be’Kb)

GEW:HEW—DEW=HEW—dEW(HEW,KE),GEX:HEX—DEX:HEX—dEX(HEX,KE)

th:th_th:th_dhw(HhW’Ci)’th:Hhx_th:Hhx_dhx(Hhx’Ci)
FW:ZW_DrW_al,W'Sl:ZW_er(HrW'Kr)_al,W'Sl

(ox

bw

Fx:Zx_Drx_az,x'SZ:Zx_drx(er’Kr)_aZx'SZ
1 EX, =ex (V)
2 EX,=ex(Y,)
1 IM, =im, (Y,)
2 M, =im,(Y,)
11, =i (K
2 1,=i,(K")

0
1
0
0 (o {
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